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THIRD SEMESTER
CIVIL/CTM

SCHEME JULY 2008
HYDRAULICS

Maximum Marks : 100

Note : (1) Attempt total five questions out of eight.

1.

a) Write Pascal's law.

b) Define specific gravity.

$cT A3 H A Ulg ¥ g o
(11) In case of any doubt or dispute, the English
version question should be treated as final.

fdt ot ypR & g siyar RQae & iy
H 3G vrET & "ed B AW AT AR

(s

URGa &1 Aaw forfRad

Ll

IMUfeE gcg B TRURT FIRR

¢) Explain dynamic and Kinematic viscosity. 6

T T2 g fodT eFEar P wHeSd|
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d) Water is flowing through the horizontal tappering

b)

S/2015/6174

pipe. The central line of pipe is 5 m above from
datum. The diameter of one end of pipe is 300mm
and other end is 200mm. If velocity of flow at
bigger end is 2m/sec and pressure at smaller end
is 150 kN/m?,then calculate pressure at bigger
end 8

U@ QST USTHR Uiy ¥ Sief HaTfad 2 war 2
g & Fg 1T IR A 5 W SR B IEY F
v RR &1 @ 300 Bt @2n g RR a1
200 . 21 o} R AR R e & & 2 . /s
duT B RR W@ 150 fF. =g/ R, graras
RR W g@ $t vET FIRR

What do you understand by centre of pressure?
3

29 g W I FT FHA 2?7

A liquid of specific gravity 0.75 is filled in a tank
upto the height of 2.10m. Calculate the pressure
of liquid in tank in terms of mercury. 3

UH <& A 0.75 A0fde ge 91T g9 2.10 H.
HUTE T WRT 21 SH! ¥ 29 F 9 T UR P Y
F oFET HfSrRN

Contd.....
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A circular plate of diameter 3 m is immersed in
a tank in which water is filled up to a height of
3.75m. Calculate total pressure on plate when
plate is kept vertical. 6

we 3 ). 1 B TATER Wi T ¢F H gl I3
21 3% ¥ 3.75 . HarE 9% Il R 81 5 @i
IR W ? 99 Wi W A I AT
S|

Describe principle of working of Bourdon's
pressure gauge. 8
e T T & sy & Ryga &1 auf=
I

What do you mean by siphon pipe? 3
AEET U2y A 319 T GHEI 2 7

Define hydraulic gradient line. 3
STelf WaureT Y& @ gRifia $ifr
Compare orifice and notch. 6
ANfha @t A i ga HR

The diameter of cylindrical tank is 2m. The water
is filled up to 4 m height in it. An orifice of
diameter 6 cm is in the bottom of this tank. The

coefficient of discharge of orifice 1s 0.75.

Calculate the time required to lower the water
level 2.5 m. 8

PT.O.
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U JAAIPR S BT a9 2 H. 21 399 4 ot
HarS dF UHT WRT 81 59 &6 & da § 6 I
N F1 ARTBE & 81 ARifa &1 fask
T 0.75 Bl $& BT STt &R 2.5 #Y. &9 A
& ford oM a1el srravgs wHa Y T HRR

Centre of pressure is below centre of gravity?
Give reason. 3

T F5 THE Fvg W A1 & 81 SR AR
What is turbulent flow? 3
faggey varg FT 87

What is flownet? Give its uses. 6
TaTg STl 991 8?7 395 SUANT qarsd|

Two reservoirs are connected by a 20cm diameter
2 km long horizontal pipe line through which
discharge is taking place @ 250lit/sec.

Considering major losses find the difference of
water level of the two reservoirs. Take =0.01.

8
3 STAI T 20 A w1 & 2 fad. &Y ardy

T | 92 & w250 AR /Ads x|
farrsf= 21 va1 81 7= g1 1 wifora o< &g
SFT STl & STeRaR ¥ 3R 19 BRI
£=0.01 o1

Contd.....

wosauljuoadBammm/i:dizy



woa*auljuoadbimmm)i:dizy

wodauljuoadbirmmam/:dizy

http://www.rgpvonline.com

(S)

5. a) Whatis Renault number? 3
ATee 6T T 87
b) Define submersible pump. 3
e g 3t gRenfda HifoR
c) Write the applications of hydraulic jump. 6
SidreBTd & g fafadl
d) Find the most economical cross section of a
rectangular channel to carry 0.3m?/sec. of water,
when bed slope is 1:1000. Assume Chezy
constant C = 60. 8
TP AAATBR 99 & ford, S & 1:1000
a1 waurar & fort 0.3 87 HY. /Ads favgsi= et
2, 98 AVERI AURY FIT T DI
st fRRT® C = 60 7 &l
6. a) Write Bernoulli's theorem. 3r
Tt v forfad g
b) Whatis priming? E
ST AT 8 ? 2
¢) Define turbine. Give their types. é
zafe @ Rofie BRI T6 THR TN
d) Explain working of reciprocating pump wit8
sketch.
yarE o $ SRR R aa weesd
-]
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What 1s surge tank? 3
ey <t T B2
Write the advantages of Ogee Weir. 3

3irft R & @y ol
Draw the sketch of centrifugal pump. 6

JUd=g! T BT o IS

A rectangular notch is discharging water at the
rate of 0.5m*/sec. If the width of notch is three
times the head of water above crest. Calculate
the head of water above the crest of the notch.
Given Cd=0.6. 8
U AR A1 0.5 59 #t, /Wds o1 faaws=
N @ g1 afe g H Gt Sud R ¥ o
ofid & 9 71 B Y IR & SR T o Y
ToHT HIRA Cd = 0.6 o1

Why air vessels are used in reciprocating pump?
3

TR G5 3 a1g 919 941 SudnT fbd A g2

Contd.....
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b) Why mercury is generally used in manometers?

3
BriteR ¥ wrTaeaT Ut 99t Sua s s
87
¢) Deriverelation between C c’Cv and C d- 6
C.C, T C ¥ sy wenfia HIvm
d) Compare centrifugal and reciprocating pump. 8
IS TAT TR T7g F Foem HFom
e = = CH
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